DELHI PUBLIC SCHOOL, BHILAI
Date : 27.09.2023 MIDTERM EXAMINATION-2023 Time : 3 Hrs.

Class : VII . Subject : ENGLISH Max. Marks : 80
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« Read the instructions carefully before answering the questions.

« Attempt all the questions in each section before going to the next section.
o All the answers must be correctly pumbered and written neatly.

« Do not copy the questions.

» For multiple choice questions, option numbers should clearly be specified along with the
answers.

s The paper consists of 4 sections
Section A - Reading: 16 marks
Section B - Writing: 18 marks
Section C - Grammar: 16 marks
Section D - Literature: 30 marks.

SECTION - A [READING] 16 MARKS

A-1. Read the following passages carefully and answer the guestions that follow: %

ART OF BISFEENING ¢)\e € ¥ &

) ]

1.We al% need to sleep, even though no one knows why. There are no guidelines qf;or how much sleep is
required) but an@iverage adult sleeps for about seven hours and twenty minutes)) About eight percent of
adults are happy with five houss or less of sleep and four percent want ten hours or more of ityBabies

need between fouricen to eighteen _nours, on the contrary the elderly people need less than they did
when young but often take a nap duting the day.

Zi,}éveryone at some time has difficulty in sleeping but if you miss a couple of hours of slegp, no harm
is don€) You may feel tired and irritable the next day but the body soon makes up for the 1o ss(However,
if you try to stay awake night after night, you soon begin to behave strangely) You lose the ability to
concentrate and your judgement is impaired. You begin to imagine strange things and your behaviour
becomes abnormal.

-

3. A lot of people have serious problems related to sleep. Some people find that they cannot sleep
easily. Some wakeup in the middie of the night or too early in the morning. There are a number of
causes responsible for this, out of them depression and worry are ths most common. The major
environmental factors which affect slecp are noise, light, heat and cold. Pain during an illness can also
keep people awake. Most of us accept temporary sleeplessness without seeking help but one and a half
million people in Britain take drugs to help them sleep. Many people become addicted to their sleeping
pills but these pills do not deal with the cause of insomnia and it is better to avoid them if you can. It is
more preferable to identify and eliminate the problem. '

A-1. (# According to the passage why do we need to sleep? (1)
- (Y How long does an average adult steep for? | (1)
(2 What happens if you stay awake night-after-night? (Write any two effects) (1)
£&7What happens if you miss a couple of hours of sleep? _ (L
(e) Choose the factors that affect sleep - _ (1
(i) relations (ii) friends ™
(iii) noise, light, heat and cold (iv) work
(f) In Britain what do some people consume to help them sleep? (1
(i) tea (i) milk
(iif) drugs (iv) chocolates
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(g) Find a word in the passage which means the same as ‘sleeplessness’ (para-3)7 (1) .
(h) Find a word in a passage which is the opposite of ‘gain’. (para-2} (1

A-2 Read the poem carefully and answer the following questions:

Books

Y
1. Books are not a lie but true,
they give you knowledge’
of honesty and cruelty.
1 (They tell you about history,
In which there is always a mystery. )

2. They can make your career,
which will not lead to any failure.

They give you a right way and never say to go away!
They are the oceans of wisdom,

2(which will make you one day the master of kingdom)

3. Knowledge is big, like the sky,
W which always goes high and high.
{ So books always lead to a right way,
and will never take you on a wrong Way)

‘Coz they are your true friends.
(e£f What do books provide us? 1
(b¥In the poem in which subject there is always a mystery? 1
What will the books make you one day? 1
(' Where do books lead us to? 1
(e) Books are the vast oceans of-
(i) evil (ii) wisdom  (iii) wrong deeds (iv) cruelty 1
(f) Books are our . _ 1
(i) true enemies (i) false enemies  (iii) true friends (iv) false friends
() Find out a word from the poem which means “to guide’ (stanza-3) 1

(h) Find out a word frem the poem which is opposite of foolishness (stanza-2)
SECTION - B [WRITING] - 18 MARKS

B-¥. You are Smriti. You receive a phone call from your mother’s friend, Mrs.Rakhi, in her absence and
had the following conversation with the speaker. Write a message, for your mother as you have to go for
your tuitions. Put the message in a box. Write the message within 50 words using the information given
below. Do not add any new information. ~ (5
Mrs. Rakhi - Hello! Is this 252586547

Smyriti — Yes, may I know who’s calling?

Mrs. Rakhi — T am Mrs. Rakhi. Can I talk to Devika?

Smriti — I am afraid, mother is not at home. Do you have any message for her?

Mrs. Rakhi — Yes, please tell her that the party fixed for tomorrow i.e., 17% September has been
postponed.

Smriti — It has been postponed?

Mirs. Rakhi — That’s right. Also tell her that I shall let her know as and when the next date for the party
is fixed.

Smriti — Ok aunty, T will tell her.

B<Z. You received the First Prize in the Intersection Debate Competition held in your school, from the

Principal, in the morning assembly. Make a diary entry in about 100 words expressing your happiness
while sharing your achievement with your family and friends. (5

B3, Youare Amit/Amita living at 42, Nehru Nagar, Delhi. Write a letter to your friend telling him/her
about your interests and hobbies using the inputs given below in about (150-200 words) (&)
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I am an active person — with many hobbies and interests — fond of listening to light music — got a
wonderful collection of CD’s at home — pleasure to enjoy different musical compositions — wish to go
to music school — busy with my studies — still like to spend some time with friends — go to the park —
have fun playing basketball — good for health too - often play for the school team —how about you.

OR
/D/evelop a short story from the given outline in about 150-200 words.
A crow finds a piece of cheese....... flies to a tree....... a hungry fox sees the crow....... thinks of a
game....... praises him....... requests him to sing....... the crow very pleased....... open its beak.......
the cheese falls down...... fox picks up....... FUns away....... moral......

SECTION - C [GRAMMAR] - 16 MARKS
Choose the correct option and fill in the blanks: (1x2=2)

C;l./Fill in the blanks with correct yerb forms:
(a) Ronita classical dance every Sunday.

(iMearns (ii) learn (iii) learnt (iv) learned
(b) The train had bgfore we reached the station.

(i) leave (i¥eft (iil) leaving {(iv) leaved

C,2. Fill in the blanks choosing suitable modals: (1x2=2)
a) As a child my grandpa climb a tree.
(i) can (ﬁ#’could (ii1) shall (iv) should
(b) the best team win! :
(iymay (ii) might {(ii1) can (iv) counld

C?A‘ill in the blanks with suitable adjectives: (1x2=2)
(2) India has the population in the world. "
() large (if) larger (iizf largest (iv) largely

(b) Rita has not given reply to her neighbour’s query regarding her stay there.
(i) some (ii) much (iii) many (iyyany
_€<4, Fill in the blanks with suitable adverbs: :
() My younger brother gets up before seven.
(i) very " (iafever (i) only (iv) early

(1x2=2)

{b) Swati sings ‘than the other singers. -
(i) loud @) loudest (i Touder (iv) loudly

C-5. Fill in the blanks with suitable prepositions: ‘ (ix2=2)
(a) Mother divided the chocolate her children.
(b) The storm is moving the Indian Ocean.

C-6. Fill in the blanks with the suitable prepouns: (1x2=2)
(a) Her kitten is not as old as .
(b) They can move the wardrobe

C-7. (a) Fill in the blanks with a suitable gerund form of the verb given in bracket: (1x2=2)
- The poet finally finished the poem. (write)
(b) Fill in the blank with a suitable determiner.
- Its raining! Get D umbrella or else you will get wet.

C-8. (2) Write an idiom connected with the following part of the human body ~ “face’ (1x2=2)
(b) Write the meaning of the proverb — ¢ All’s well that ends well.’

SECTION - D [LITERATURE] (30 Marks)

D-1. Read the extracts given below and answer the questions that follow: 3x3 =9)
1. ‘He liked to tease and play, '

And if we ran around his tree,

He went the other way.”

(ay Who does ‘He’ refer 107

(]zr)’ Why did he go the other way?

(c) Name the poet.
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2 f There’s a dusty old window around at the side,
With three cracked panes of glass,
31 often think there’s someone staring at me
Each time that I pass)
Where is the dusty old window?
(b Why does the poet want to peep through the window?
(c) Does the poet get scared at the thought of peeping through the window? What makes you think

sa?
/] wished to kill you, and you have saved my life. Now, if I live, I will serve you........... "
gzr)/ Who is the speaker?
(i}:eﬁe king (ii) wounded man (i) hermit (iv) none of them
QK{ Whom does he wish to kill?
(1) hermit (i) king (1if) a stranger (iv) an old man
gpa/ Name the chapter?
(i) The Squirrel {(ii) Chivvy (iii)/'f/ firee Questions (iv) A Gift of Chappals /ﬁ\-\
D-2. Answer any three of the following questions in 30 to 40 words each: (2")64—6)

yisitnotgoodiobea rebel oneself?
(b) The king forgave the bearded man. What did he do to show his forgiveness?
+(c) Why do you think grown-ups say the kind of things mentioned in the poem *Chivvy’. Isit
important that they teach children good manners, and how to behave in public?
Vhat is the poet planning to do soon in the peem “The Shed’?
%Answer any one of the following questions in about 75 words: 3)
_Pescribe the music teacher, as seen from the window.
OR

Why did the daimio reward the farmer but punish his neighbor for the same act?

D-4. Answer any three of the following questions in about 30 to 40 words each (2x3=6)

(a) Was the boy troubled by the kidnapping? Give reasons from the story to suppott your answer.
(b Miss. Leslie was beautiful in a quiet and dignified way. Explain.

@What were the two possessions of Jim and Della in which they took great pride?

(d) Did Miss. Leslie agree to marry Maxwell? What did she say? ‘

D-5. Answer any one of the following questions in about 75-80 words: 4
#What did Della pray for when she heard Jim coming up the stairs? Why did she do such a thing?

OR
How did Ebenezer Dorset react 10 the kidnapping of his son?
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DELHI PUBLIC SCHCOL, BHILAI

Date : 25.09.2023 MIESTERM EXAMINATION - 2023 Time : 3 Hrs.
Class : Vi Subject : Mathematics Max. Marks : 80

General Instructions :

This Question paper has 5 sections A, B, C, D and E.

Section A has 20 MCQs carrying 01 mark each.

Section B has 5 questions carrying 02 marks each.

Section C has 6 questions carrying 03 marks each.

Section D has 4 questions carrying 05 marks each.

Section E has 3 case based integrated units of assessment (04 marks each) with sub-parts of the values of 1,

2 and 1 marks each respectively.

7. All questions are compulsory. However, an internal choice in 2 questions of 5 marks, 2 questions of 3
marks and 2 questions of 2 marks has been provided. An internal choice has been provided in the 2 marks
questions of Section E,

8. Figures are not to scale.

9. Write units, formulae etc. wherever required. Also draw neat figures.

A Sl

--------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------

SECTION: A
{Section A consists of 20 questions of 1 mark each)
Choose the correct option:

01. (=5 F(—8) = (—8) + ...
(a) +8 (b) =5 (©) +5 (d) —13

02.  (-316) X (=1)=...... |
(a) +316 by =316  (c) —1 (d) +1

(3. Solve : =30+ 10 = ......
(a) +3 (by ~3 {c) +10 (d)y -~10

04. A negative integer and a positive integer whose difference is —3 is
(a) —9,+6 (b) —6,+3 (c) —3 (d —-2,+1

05. Find% of 46

(a) 21 (b) 32 {c) 23 (d) 46
06. Simpﬁfy:-j» = -f-
3 8 24 24
OF ®) S © 2 @ 2
07. Find : 26.3 = 1000
(a) 0.263 (b) 0.6263 (c) 2.63 (d) 263
08. The mean of the first five whole numbers are
(a) 2 (b 3 (c) 4 (d) 5
09. Find the mode of the given set of numbers 1,1,2,4,3,2,1,2,2, 4
(a) 3 (b) 1 (c) 2 (d) 4
10.  Solve the equation Sp+2=17
(@) p=2 (b) p=3 {c) p=4 (d) p=5
11.  Equation for the statement — Three-fourth of tis 15 will be
3 4 4t 3 .
(a);t=15 (b);t—lS () 15-—3 (d) —~t 4

12. If I take three-fourth of a number and add 3 to 1t, 1 will get 21. Find the number.
(a) 20 (by 28 {c) 24 (d) 16

13.  An angle is greater than 45°. Its complementary angle will be
(a) equal to 45° (b) greater that 45° (c) less than 45° (d} none of these

Contd...2
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14.  Iftwo angles are supplementary, then the sum of their measures i8
(2) Equal to 45° (b) Greater than 180° (c) Lessthan 180°  (d) Equalto 180°
15. 15%0f2001is
(a) 7% {(b) 30 (c) 15 (d) 60
16.  Inacity, 30% are females, 40% arc males and remaining are children. What percent are children?
(a) 100% (b) 40% (c) 30% {d) 70%
17.  Area of the given triangle is
(ay 12 e’
pom | (b) 11 cm’
(c) 13 em’
(d) 6cm”
1
ik
3 fmn
18.  Find the area of the circle whose radius 1s 7 cm :
(a) 154 cm’ (b) 14 cm’ (c) 132 cm’ (d) 144 cm’

Directions : In the question number 19 and 20, a statement of Assertion (A) is followed by a statement of
Reason (R), choose the correct option.

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct explanation of Assertion (A).

(b) Both Assertion {A) and Reason (R) are true and Reason (R) is not the correct explanation of Assertion (A).
(¢) Assertion (A) is true but Reason (R) is false.

(d) Assertion (A) is false and Reason (R) is true.

19.  Assertion (A) : The cost of the article was Rs 16000. If it is sold for a profit of 15%. The selling price
of the article is Rs 18400.
Reason (R) : Selling Price = Cost Price — Profit

70.  Assertion (A) : Circumference of a circle of radiusris r? .
Reason (R) : 176 cm is the circumference of circle whose radius is 28 cm.

SECTION: B
(Section B consists of 5 guestions of 2 marks each)

71.  Find: 7.575 + 0.25
20, Simplify: 35 = 12

23. A crickeier scores the following runs in eight innings. Find the mean score:
58, 76, 40, 35, 46, 45, 0,100

14 Write statement for the given equation
G) 3p+4=25 (ii)f";-zg
OR
Set up an equation :
In an isosceles triangle, the vertex angle is twice either base angle. The base angle is b degrees and the
sum of angles of a triangle is 180 degrees.

25. (i) Find the complement of 63°
(i1) Find the supplement of 105°
OR
In the adjoining figure name the following pairs of
(i) Equal supplementary angles
(il Adjacent complementary angles

Contd...3
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. SECTION : C
(Section-C consists of 6 questions of 3 marks each)

26.  The weight (in kg) of 15 students of a class are 38, 43, 35, 37, 45, 50, 32, 43, 43, 40, 36, 38, 43, 38,47
Find the mode and median of this data.
OR
The ages in years of 10 teachers of a school are 32, 41, 28, 54, 35, 26, 23, 33, 38, 40
(i) What is the age of the oldest teacher and that of the youngest teacher?
(i1) What is the range of the ages of the teachers?
(iii) What is the mean age of the teachers?

27.  Laxmi’s father is 49 years old. He is 4 years older than three times Laxmi’s age. What is Laxmi’s age?
28.  State the property that is used in each of the following statements? ! ’\
() Ifallbthen 21 =45 AT AN S
(i) f 24 = 26, thena |l b - NE
(iii) If £4 4+ 25 = 180° thena || b 3
Gz b
=
In the given figure, the arms of two angles are parallel If £LABC = 70° then find i \
(i) £DGC  (ii) «DEF / ¢

wr

3

29.  AABC is isosceles with AB=AC=7.5 cm and BC=9 cm. |
The height AD from A to BC is 6 cm. Find the area of AABC .-
What will be the height from C to AB i.e. CE?

30.  The minute hand of a circular clock is 15 cm tong. How far does the tip of the minute hand move in
1 hour. (Take m = 3.14)

31.  The two sides of the parallelogram ABCD are 6 cm and 4 cm.
The height corresponding to the base
CD 1s 3 cm. Find
(i) area of the parallelogram
(ii) The height corresponding to the base AD.

SECTION: D
(Section D consists of 4 questions of 5 marks each)

32. (i) A vehicle covers a distance of 43.2 km in 2.4 litres of petrol. How much distance will it cover in one
litre of petrol?
(i) 1.07x0.02
OR
(i) Find the area of a rectangle whose length is 5.7 cm and breadth is 3 cm.
(i) 654+ 6

33.  The performance of a student in 1% Term and 2™ Term is given below. Draw a double bar graph
choosing appropriate scale and answer the following:

Subject English | Hindi | Maths | Science | S. Science
I* Term (M.M. 100 67 72 88 81 73
2%% Term (M.M. 100) 70 65 95 85 75

(i) In which subject, has the student improved his performance the most?
(i1) In which subject the performance has gone down?
' Contd...4
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34.  Inthe given figure p || ¢ . Find all the unknown angles and also give reasons.

*35. (i) What rate gives Rs.280 as interest on a sum of Rs. 56000 in 2 years?

(ii) If Meena gives an interest of Rs.45 for one year at 9% rate p.a. What is the sum she has borrowed?
OR

(i) Meeta saves Rs 4000 from her salary. If this is 10% of her salary, what is her salary?

(i1) I buy a TV for Rs 10,000 and sell it at a profit of 20%. How much money do I get for it?

SECTION: E
{Section E consists of 3 questions of 4 marks cach)

36. A class test was conducted to grade the performance of students in class VIL. In that class test
conducted in Class VII containing 10 questions, (+3) marks are given for every correct answer and
(-2) marks are given for every incorrect answer and no marks for not attempting any question.

(i) Gurpreet attempts all questions but only 5 are correct. What is her total score?
(ii) Radhika scored 12 marks. If she has got 6 correct answers, how many guestions she attempted

incorrectly?

OR
Mohini scores — 4 marks in this, though she got 2 correct answers. How many questions she
attempted incorrectly?

(iii) Mahendra attempts 5 questions but only 3 are correct. What is his total score?

37. A local sports committee organizes & cricket match. In that cricket match, Sachin scored twice as many
~ runs as Rahul. Together, their runs fell two short of a double century. Their collaboration helps them to
win the match.

i #
(i) Write an equation to show the number of runs scored by Rahul and Sachin together.
(i) How many runs did Sachin score?
OR
Find the total number of runs scored by Sachin and Rahul?
(iii) How many more runs Sachin scored than Rahul?

38.  The schools of Durg order chalks from a chalk factory. The chalk making factory, make chalks which
contains calcium, carbon and oxygen in the ratio 10:3:12, in order to supply the chalks to various
schools of Durg.

(i) Find the percentage of carbon in chalk. |
(i) Ifin a stick of chalk, carbon is 3g, what is the weight of the chalk stick?
‘ OR
Find the percentage of calcium in chalk.

(iii) Find the percentage of oxygen in chalk.

CECE0E TOPORO



DELHI PUBLIC SCHOOL, BHILAI

DATE : 03.10.2023 MIDTERM EXAMINATION -2023 ~  Time: 3 Hrs.
CLASS : VIi Subject — Science Max. Marks - 80
General Instructions :

10.
11.

12.

13.
14.
15.

16.

This question paper consists of 39 questions in 5 sections.

All questions are compulsory.

Section A consists of 20 objective type questions carrying 1 mark each. Students have to write correct
option and answer both.

Section B consists of 6 very short questions carrying 02 marks each. Answer to these questions should be
in range of 30 to 50 words.

Section C consists of 7 short answer type questions carrying 03 marks each.
Section D consists of 3 Long Answer type questions carrying 05 marks each.
Section E consists of 3 source based units of assessment of 04 marks each with sub-parts.
Section — A {Question No. 1 to 20)

Heat causes (1)
a) change of state b) change of temperature ¢) expansion d}) all of these

Freezing of water is a oy
a) chemical change b) physical change ¢) irreversible change d) none of these

Fish exchange gases through (1)
a) lungs b) stomata c) gills d) operculum

Which of these is not an indicator? ()
a) Turmeric b) phenolphthalein  ¢) tomato juice d) none of these

Pitcher plant traps insects because 1t {1}
a} is a heterotroph b) grows in soil which lack in nifrogen
¢) does not have chlorophyil d) has a digestive system like human beings

The word acid comes from the Latin word (1)
a) ace b) acre c) acere d) none of the above

Farmers use manure and fertilizer to 7 (1)
a) replenish plant b) replenish soil c) replenish air d) replenish fungi

Heat from the sun reaches us by the process of | (1)
a) conduction b) convection ¢) radiation d) all of these

The organisms which make their own food are called (1
a) heterotrophs b) autotrophs ¢} parasites d) saprophytes

Minimum loss of energy takes place while we are (1)
a) sleeping b) walking - ) swirmming d) running

In humans, the type of teeth used to tear the food is (1)
a) molar b) premolar ¢) incisor d) canine

Metal vessels are generally provided with wooden handles because (1)
a) wood is a poor conductor of heat b} wood 1s a good conductor of heat
¢} metal vessels are poor conductors of heat d) all of these

When an excess amount of water is added to an acid, it becomes (1)
a) diluted acid b) concentrated acid ¢) neutral substance d) none of these

Plants take in and give out gases from the air through ‘ (D
a) veins : b) petiole c) stomata  d)leaf blade

Which of these is not necessary for photosynthesis? A (D)
a) carbon dioxide b) chlorophyll ¢) sunlight  d) nitrogen

Sneha’s mother made a concentrated sugar syrup by dissolving sugar in hot water. On cooling, crystals of

sugar got separated. This indicates a (1)
a) physical change that can be reversed. b) chemical change that can be reversed.
¢) physical change that cannot be reversed. d) chemical change that cannot be reversed.

Contd...2
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Directions : Question No. 17 to 20 are Assertion (A) Reason (R) type questions. Choose the correct option
from the following :

(2) Both (A) and (R) are correct and (R) is the correct explanation of (A).

{b) Both (A) and (R) are correct and (R) is not the correct explanation of (A).
{(c) (A)is true but (R) is false. '

(d) (A) is false but (R) 1s true.

17. Assertion (A) : The breathing rate increases during exercise. (1)
" Reason (R) : To allow more oxygen to reach the muscles.

~

18, Assertion (A) : The food is cut by the teeth inside the mouth. (1)
Reasen (R) : Our teeth vary in appearance and perform different function.

19. Assertion (A) : Burning of any substance is always a chemical change. (D)
Reasen (R) : A chemical change is aiso called a chemical reaction.

20.  Assertion (A) : To _profect tooth decay, we should brush our teeth regularly. (1
Reason (R) : The acidic ingredient in the paste protects tooth from decay.

SECTION ~ B (Very Short Answer Questions)

21. What is stainless steel made up of? | 2)

22.  What is the percentage of oxygen and carbon dioxide in inhaled and exhaled air? 2)

23. Why do we get instant energy from glucose? ()
OR

Name the main digestive glands present in the human body. {Any four)

24.  Some plants have deep red, violet or brown coloured leaves. Can these leaves perform the photosynthesis
process? 2)

25. Define indicator. Give one example. (2)
OR
Explain why factory waste is neutralised before disposing it into the water bodies?

26. In places of hot climate, it is advised that the outer walls of houses be painted white. Explain. {(2)

SECTION ~ C (Short Answer Questious)

27. Distinguish between a parasite and a saprotroph. (Any 3 points) (3)
78  Draw a well labelled diagram of Amoeba. (Any four label) (3)
OR

a) How does a starfish consume food?
b) In which part of the human body digestion starts?

29 (a) Why does an athlete breathe faster and deeper usually after finishing the race? (3)

(b) List two similaritics between aerobic and anaerobic respiration.

30. Write an activity to show how crystals of copper sulphate are formed? . 3)

31. Describe the process of neutralisation with the help of an example. (3)

32 (a) Describe in brief how land breeze occurs. ’ (3)
(b) Why wearing more ltayers of clothing during winter keeps us warmer ithan wearing just one thick piece of

clothing?

33 (a) Explain when baking soda is mixed with lemon juice, bubbles are formed with the evolution of a gas.
What type of change it 157 : (3)

(b) What is the chemical name of baking soda?




w3
SECTION - D (Long Answer Questions)

34 (a) What is acid rain? How does rain becomes acidic? Also state the damaging effects of acid rain.
(b) Distinguish between acids and bases. (Any two points)
OR
(a) What will happen if turmeric is added to acidic, basic and neutral solutions?
(b) Explain why calamine solution is applied on the skin, when an ant bites?

35 (a) Name and write the function of different types of teeth in humans.
(b) What do you mean by oral rehydration solution?
OR
(2) What do you mean by milk teeth and permanent teeth?
(b) Describe the process of digestion in ruminants.

36 (a) Why do we often sneeze when we inhale a lot of dust laden air?
(b} Why do we get muscle cramps after a heavy exercise? How can we gel relief from cramps?
OCR
(a) How does breathing takes place in an earthworm?
(b) How do plants respire?

SECTION — E (Case based Study Questions)

&)

()

(3

37. Reyansh was a student of class VIL His father purchased a new bicycle for him on his birthday. Afier few

months, he found that the cycle chain and even the handle gets rusted.

a) What do you mean by rust? (1)
b} Why Reyansh’s cycle got rusted? (O
¢) How can Reyansh’s prevent his cycle from getting rusted? (Any two points) (2)

OR
Write the equation of rusting.

48, Sneha’s father was suffering from severe siomach pain. He was also having heartburn and indigestion. He
consulted a doctor who told him that he was suffering from acidity and advised him to take an antacid

tablet after cach meal. Sneha’s father followed the advice strictly and was cured.

a) Which acid is secreted in our stomach? (H
b) Name two antacids. (H
¢) Explain how an antacid tablet gave relief to Sneha’s father? (2)

: OR
Can a glass of lemon water gives relief in digestion? Explain.

39.

On last Monday, Pankaj was dealing immense cough and cold. Besides this, he was suffering from a great
headache. So, he decided to take a leave on that day so that he could take some rest at his home. After one
hour he thought to check his fever through a clinical thermometer, so before using it, he washed it and
started shaking it very fastly in his hand. At the same time, his elder brother Aditya scolded him and
suggested him to shake the thermometer slowly.

a) Why a few sharp jerks are given to clinical thermometer before using clinical thermometer? (1
b) Write the range of clinical thermometer in degree Celsius. (1)
¢) Why the mercury does not fall or rise in a clinical thermometer when taken out of the mouth? (2)

OR
Write any two precautions to be taken while reading a clinical thermometer?

(BC305 TIEOTD



DELHI PUBLIC SCHOOL, BHILAI <SSY-)

Date : 20.09.2023 MID TERM EXAMINATION - 2023 Time : 3 Hrs.
Class : VIl ‘ Subject : SOCIAL SCIENCE Max. Marks : 80

GE

NERAL INSTRUCTIONS: -

The question paper comprises Six Sections—A, B, C, D, E, and F. There are 37 questions in the Question
paper. All questions are compulsory.

. Section A : From guestions 1to 20 are MCQs of 1 mark each.

Section B : Question no. 21 to 26 are very short answer type questions, carrying 2 marks each.

. Section C : Question no. 27 to 31 are short answer type questions, carrying 3 marks each.

Section D : Questicn no. 32 to 33 are case hased questions with three sub questions and are of 4 marks each.
Section E : Question no. 34 to 36 are very long answer type questions, carrying 5 marks each.
Section F : Question no. 37a and 37b are diagrams and map base questions, carrying 5 marks each.

There is no overall choice in the question paper. However, an internal choice has been provided in questions.

-----

04.

05.

6.

08.

09.

10.

il.

12.

13.

14,

5.

16.

17.

---------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------

A person who makes maps is known as :

(a) photographer (b) cartographer {c) chorographer (d) none of these
Who used the term Hindustan in the thirteenth century?

(a) Al-Idrist (b) Babur (c) Akbar (d) Al-Rasid

Assertion (A): Manuscripts were collected by wealthy people, rulers, monasteries and temples.

Reason (R): They were placed in libraries and archives.

(2) Both (A) and (R) are true and (R) is the correct explanation of (A)

() Both A and Rare true and R is the not a correct explanation of (A)

() (A) is correct but (R) is wrong

(d} (A) is wrong but (R) is correct

Mahmud of Ghazai was the ruler of

(a) Delhi {(b) America (c) Iran {(d) Afghanistan

Tribhuvana-chakravartin means: '

(a) Overlord of king (b) Lord of Rashtrakutas  (c) Overlord of farmers (d) Lord of the three worlds

The transformation of Delhi into a capital that controlled vast areas of the subcontinent started with the
foundation of the Delhi Sultanate in the beginning of the ........

(a) 11" century (b) 12%® century (<) 13" century (d) 14" century

What was the language of administration under the Delhi Sultans?

(a) Sanskrit (b) Hindi (c) Persian  (d) None of these

Which is not a natural ecosystem?

{a) Desert (b) Aquarium (c) Forest (d) None of these

Assertion (A) : Plant and animal kingdom together make biosphere or the living world.

Reason (R) : It is a narrow zone of the earth where land, water and air interact with each other to support
life.

(a) Both (A) and (R) are true and (R) is the correct explanation of (A)

(b) Both A and Rare true and R is thenota correct explanation of (A)

{¢) (A) is correct but (R} is wrong

(d) (A) is wrong but (R) is correct

The innermost layer of the earth is

(a) Crust {(b) Core (¢) Mantle (d) All of these

The process of transformation of the rock from one to another is known as the rock cycle.
{(a) True’ {b) False ‘

Mushroom rocks are found in:
(a) Deserts (b) River valleys (c) Glaciers (d) None of these
Flood plains are very .
{(a) Fertile (b} Unfertile (c)barren  (d) none of these
and oxygen are two gases which make up the bulk of the atmosphere.
(a) carbon di oxide (b) nitrogen (c¢) helium  (d) none of these
The Civil Rights Act of prohibited discrimination on the basis of race, religion or national origin.
{a) 1864 (b) 1964 (c) 1854 {d) 1954

A movement that began in USA in 1950s in which African — American people demanded equal rights and
an end to racial discrimination.

{(a) True {b) False

In most socigties, including our own, the roles men and women play or the work they do, are not
valued . |

(a) equal (b) unequal (¢) both (a) & (b} (d) none of these

Contd...2



18.

19.

20.

21.
22.
23.
24.
25.
26.

27.

28.
29.
30.
31.
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The provision of helps many women to take up employment outside the home. It also makes it
possible for more girls to attend schools. o
(a) créches (b) care centre {c) parks {d) none of these
Members of the Legislative Assembly (MLAs) are elected by the .
(a)} People (b} Governor (c) President (d) Judiciary
The political party that has the majority is called the and all other members are called the opposition.
(a) co-alliance party (b) opposition party (c) ruling party (d) none of these

(Section — B : 2 Mark Questions)

Who was considered a “foreigner” in the past?
Which ruler first established his or her capital at Delhi?
What are the major components of the environment?
What is weather? _
Mention any two situations in which inequality exits in society.
What are anganwadis?

' (Section — C: 3 Mark Questions)

List some of the technological changes associated with medieval period.
OR
What does the term pan-regional empire mean?

What were three types of taxes collected by the Delhi sultanate?
Name three types of rainfall?
Name three types of rocks.

How did some ML As become Ministers? Explain.
OR
In a democracy why is universal adult franchise important?

(Section — D : 4 Mark Questions)

Case-Based Questions

32.

33.

34.

35.

36.

People use to write holy texts, chronicles of rulers, letters and teachings of saints, petitions and judicial
records, and for registers of accounts and taxes.

Manuscripts were collected by wealthy people, rulers, monasteries and temples. They were placed in
libraries and archives. These manuscripts and documents provide a lot of detailed information to historians
but they are also difficull to use.

(a} Manuscripts were collected by whom? (1)
{b) Where does manuscripts can be placed? (1)
{c) What kind of information we can get from manuscripts? 2)

The chief minister and other ministers have the responsibility of running various government departments
or ministries. They have separaie offices. A Legislative Assembly is a place where all the ML As, whether
from the ruling party or from the opposition meet to discuss various things.

(a) Who have the responsibility of running various government departments or ministries? H
(b) Who have separate offices? 4y
(c) Where does all the MILAs, whether from the ruling party or from the opposition meet to discuss various

things? : (2)

(Section -~ E: 5 Mark Questions)
What were the qualifications necessary to become a member of a committee of the sabha in the Chola
empire?
OR
What were the activities associated with Chola temples?
What do you mean by natural environment? Why do we study natural environment? Give four examples of

human made environment. (1+2+2)

OR
Explain the structure of atmosphere.

What is mid-day meal scheme? What are its benefits.

OR
How do society create differences between boys and girls from very early age? Why do you think that boys
and men generally do not do house work? (3+2)

{Section — F: Map/diagrain Based Questions)

37. (a) Draw a neat and levelled diagram of Volcano.

37. (b) Name and locate following places/regions in a given map of India. (Any 5)

(i) Delhi (il) Ajmer (iii) Agra
{iv) Palas {(v) Cholas {vi) Rastrakutas
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Date : 12.09.2023 FIRST TERMINAL EXAMINATICN - 2023 Time : 50 Minutes

Class : VI Subject : General Knowledge Max. Marks : 50
IS cerrereenerneannes Class/Sec ...................... o
Invigilator’s Signature Marks obtained : /50

.......................................................................................................................................................................................................

General Instructions:

¢  All the questions are compulsory.
¢ There are 50 questions of 1 mark each.

Q.1  Answer the following questions in the space provided. (1x10=='10)
(a) Which is the largest city of Japan?

(b} Name the lazy fish that is found in Australia. It looks like a sea-weed.

(c) Write the name of the disease in which the child shows premature aging,
loss of body fat, loss of hair, stiffness of joint etc.

.............................

{d) Who was the chief architect of the Indian Constitution ?

(8) e s discovered penicillin that changed the world of medicine.

(f) Mention the name of heavenly bodies that become luminous by friction and burn on entering Earth’s
atmosphere.

................................................

(g) Itisaluminous, celestial body that goes around the sun, usnally worth a long shining tail. Mention its
NAME.  teernineinneneiiireraranernnns

(h) What is the unit of measurement of sound?

...................................

(1) Which disease is cured by consuming Tulsi Leaves?

(1) Which disease is cured by consuming drumstick leaves?

Q.2  Answer the following questions : {1x10~=10)

{(a) Write the name of the Indian painting that is done on various mediums such as clothes, canvas and
hand made paper.

(b) Which 1s the world’s most poisonous fish?

{c} Which 1s world’s most poisonous frog?

.........................................................

{d) Which Yoganasa improves the strength of legs and flexibility?

(e} Who is the author of the book ‘Godan’?

(f) Who is the author of the book “The Village by the Sea’?
(g) Where is the ‘Library Hotel’ situated?

..................................

(h) Who invented steam engine?

(i) Who invented A.C. electric Motors?

......................................

() Mention the largest human made lake in the world.

Q.03 Write the capital of the following countries. (1x5=5)
(a) Bangladesh

...........................................

() CRINE e

(¢} Italy

...........................................

(d) Canada

...........................................

(¢) Thailand
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Q.04

Q.05

Q.06

- Q.07

Match the following :
Column A Colamn B

(a) Adam | {a) Treasure Island

{b) Pierre Bezukhov {b) Tess of the D’urbervilles
(c) Antonio (¢} Merchant of Venice

(d) | Angel Clare {d) War and Peace

() Jim Hawkins {e) Paradise Lost

Answer the following questions:
(a) When is Earth Day celebrated?

(b) Which city of Peru was destroyed by Spanish Conguest?
(¢) Who invented Fioppy Disk?
(d) In which country V-8 hotel is located?

(&) Which disease is cured by Castor leaves?

(f) What is the unit of measurement of electric current?

(g) When is Republic day celebrated in our country? .

(h) What is the height of Mt. Everest in metres?  ...........

(i) Which city of ltaly was destroyed by volcanic eruption?

(j) Which is the largest lake in the world? ...........coeenne.

Answer the following questions :

(2) Name the currency of Thailand.  ......ccoiiiiiis

....................

_ (1x5=5)
Correct Answer

..................................
..................................

(1x10=10)

.............................

.......................

......................................

......................................

......................................

.........................................

................................................

.........

(b)  What is the unit of measurement of speed of ship and aircraft? ...l

(<) What is the unit of power? ...

(d) Alpha Orionisis ....oovieiieniiiiinnin light years away from the Earth.

(e) It cures gastric problems and indigestion and is also beneficial in diabetes.

Mention the Dame. «.ooov e .

Answer the following questions :

(a) Who is the current Prime Minister of our country? .

..................................................

(b) When is ‘Hindi Diwas” or National Hindi Day’ celebrated in India? ..o

(¢) What is the real name of ‘The Great Khali’?  ...........

..................................................

(d) From where was the ‘Chandrayaan — 3° Lunar Mission launched 2 ..o

(¢) Which footballer has been named as the “W orld’s Best Player for the year 20227 .........cooiiiinnnnnns
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Date : 15.09.2023 MIDTERM EXAMINATION - 2023 Time : 1% Hrs.
Class : Vi Subject : Information and Communication Technology  Max. Marks : 50
Q.01 Multiple Choice Questions: Write the correct answer. (1x10=10)

1. The decimal number (345); is equivalentto ........
{a) (101011001) (b) (111011101}, {c} (110111001); (d) (111110001),
2. Which of the following are the two symbols present in the binary number system?
(a) land2 - (b) Oand 1 (c) 8and 9 (d) 5and 6
3. Which of these is not a criteria used in conditional formatting?
(a) Data bar (b) Color Scale (c) Ascending (d) Icon set
4. When we apply fillter feature, small arrows appear near ............
{a) Row headers (b) Column headers (c) Sheet tab (d) None of these
5. Which of the following tags is used to give the title of a web page?
(a) <IITLE> _ (b) <HTML> () <BODY> (d) <H1>
6. Which of the following tags produce a horizontal line in the browser window?
{a) <SUP> - (b) <HTML> {c) <BODY> (d) <HR>
7. Which of these is not an attribute of the <TABLE> tag?
(a) BORDER {b) BORDERCOLOR {¢) BACKGROUND (d) TYPE
8. Which of the following attribute is used to set the display position of the text in a cell horizontally?
(ay ALIGN {b) VALIGN {c) ROWSPAN (d) COLSPAN
9. Base 2 is another name for the
(a) Binary number system ‘ (b} Decimal number system
(¢) Hexadecimai number system (d) Octal number system
10. Numbers are sorted in ascending order from ................
{a) 0to 9 {b) 910 0 ' (¢) Bothaandb (d) None of these
Q.02 Fill in the Blanks: (1x5=5)
1. Computer system understands .................. JUORO numbets.
2 feature helps in obtaining a result by recalculating and changing data in a cell.
3. The e, tag represents a paragraph.
4. The e tag creates subscripted text.
5. The e tag creates the {able caption in HTML web page. _
Q.03 Write ‘T” for true and ‘¥’ for False: | (1x5=5)
The <TR> tag is used to create cells in the table.
The VALIGN attribute of the <T'D> tag is used align the position of text of the cell vertically.
The <U> tag is used to underline the text in a web page.
Goal Seek is used fo filter required information from the list.
The hexadecimal number system consists of 16 digits.
.04 Long answer quesfions: .
What is an octal number system? : )
How many bits are there in | nibble? - 2)
What is the base of a number system? Q)
What is the use of Goal Seek feature? (2)
How can filters once applied be removed? ‘ : 3}
Why do we need to sort data in Calc? 3
What is the Goal Seek feature? 3)
Add the following binary numbers? 3
a. 1000 b. 1011 _ c. 1001
100 101 101
9. What is the difference between <BR> and <HR> tags? | . (5)
10. Differentiate between ROWSPAN and COLSPAN. (5)
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